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CHAPTER 4—GEOMETRY 
(REVIEW)

SOH CAH TOA AND ANGLE RULES

SOH CAH TOA—REVIEWN
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EXAMPLE 1

• Step 1: Draw a diagram

• Step 2: Label OPP, ADJ, HYP

• Step 3: Select SOH, CAH or TOA

• Step 4: Solve for unknown

HYP

ADJ

OPP

sin 𝐶 =
𝑂𝑃𝑃

𝐻𝑌𝑃

sin 40 =
7

𝑥

𝑥 ȉ sin 40 = 7
sin 40

𝑥 =
7

sin 40

𝑥 = 10.89 𝑢𝑛𝑖𝑡𝑠

N

N
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EXAMPLE 2N ∠𝑪𝑺𝑹

𝟗𝟎° − 𝟑𝟑° = 𝟓𝟕°

𝟓𝟕°

𝑷𝑸 𝒊𝒔 𝒕𝒉𝒆 𝒔𝒂𝒎𝒆 𝒍𝒆𝒏𝒈𝒕𝒉 𝒂𝒔 𝑺𝑹
𝒃𝒆𝒄𝒂𝒖𝒔𝒆 𝑷𝑸𝑹𝑺 𝒊𝒔 𝒂 𝒓𝒆𝒄𝒕𝒂𝒏𝒈𝒍𝒆,

𝒔𝒐 𝒊𝒇 𝒘𝒆 𝒔𝒐𝒍𝒗𝒆 𝒇𝒐𝒓 𝑩𝑸,
𝒘𝒆 𝒄𝒂𝒏 𝒄𝒂𝒍𝒄𝒖𝒍𝒂𝒕𝒆 𝑺𝑹

∆𝑩𝑸𝑪

HYP

ADJ

OPP

𝑻𝑶𝑨 𝐭𝐚𝐧 𝟑𝟔 =
𝟎. 𝟔𝟗

𝑨𝑫𝑱

𝐭𝐚𝐧 𝟑𝟔 ȉ 𝑨𝑫𝑱 = 𝟎. 𝟔𝟗
𝐭𝐚𝐧 𝟑𝟔

𝑨𝑫𝑱 =
𝟎. 𝟔𝟗

𝐭𝐚𝐧 𝟑𝟔

𝑨𝑫𝑱 = 𝟎. 𝟗𝟒𝟗𝟕

𝑨𝑫𝑱 ≈ 𝟎. 𝟗𝟓

𝟎. 𝟗𝟓

EX.2 
CONTINUEDN

𝟓𝟕°

𝟎. 𝟗𝟓

𝑷𝑸 = 𝑺𝑹 = 𝟎. 𝟓𝟓 + 𝟎. 𝟗𝟓

𝑺𝑹 = 𝟏. 𝟓

𝟏. 𝟓

𝒖𝒔𝒊𝒏𝒈 ∆𝑺𝑪𝑹 𝒕𝒐 𝒇𝒊𝒏𝒅 𝑺𝑪

HYP
OPP

ADJ

𝑪𝑨𝑯

𝐜𝐨𝐬 𝟓𝟕 =
𝟏. 𝟓

𝑯𝒀𝑷

𝐜𝐨𝐬 𝟓𝟕 ȉ 𝑯𝒀𝑷 = 𝟏. 𝟓

𝐜𝐨𝐬 𝟓𝟕

𝑯𝒀𝑷 =
𝟏. 𝟓

𝐜𝐨𝐬 𝟓𝟕

𝑯𝒀𝑷 = 𝟐. 𝟕𝟓𝟒

𝑯𝒀𝑷 ≈ 𝟐. 𝟕𝟓

𝟐. 𝟕𝟓
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CLASSWORK/HOMEWORK

• MHS Worksheets Ch. 4 p. 233 #1-10

C


